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, .l*i :,::llÍ^"!y",,
cltt[s on Twsàoy

,/t

stance of each resistor segment below

IB II
Shortcut for identical
parallel ryg$g1s:-

ô

a
30. o

30. a

<l-
, c'{

12 t¡
tl"

¿

t)lvJ
lf.

aq(*,'áò'= l5t . |SJL 3,?, î

8. Calculate the voltage drop across each resistor Bnd the current through each resistor. Calculate the

total curent in the circuit and the equivalent resistance of the circuit.

?.1 1¡

(oA

bA

\/

þ-

q,f (h,lò' (,ß=ln-K,

Íf K
T r

9. A 50. f), a 100. O and a 150. O resistor are to be connected in the circuit below between A and B.

What type of connection will have the highest resistance? The lowest resistance? Complete each

circuit and calculate each current.

A

hiþctt4 lrJd(,)r Rr

B

lr
90. v 90. v

f? I 3ffi-L K,u- G*'/ml-'rår)
I

, z1n-

rr= v. = 10"1 =

Rr3
a30h

t

30. a

30. a

t
6.û

s

ï
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IB 11

70. Calculate the voltage drop across each resistor and the current through each resistor. Calculate
the total current in the circuit and the equivalent resistance of the circuit.

r
ú,0fr

2ït

ë

T f

V

a
tTlL

ú,aL

K

l-rQ

OA

4.to
J

V

t2v

tZU

2v
t2v ffit\
rl

q,oJL 3,Ah

3,\ t2n- vr, lTv rr=ú0n
11. Determine the current through each resistor by using a proportion.

K. t7 ÍLq
2
t2

a

A

n ban zoA

2"" I tt [tho

12. Deterniine the current through each resistor in the circuits below using a proportion

1

21i t8n

?,,

R

'= .'I'
T,

60 (,

Lqn
6rL în 1n

Ú ¡' l20i Vr^

8,f 5,11 -(L

T, = lTcv

L

t,3
r(tho

?6Q z

1"" L
rúh0

3nZL
bn-

13. A l2 O heater,a20 Q hairdryer, anda25 fltoasterare connected inparallel to a 120. volt
power source. Sketch an appropriate schematic. Include a meter capable of measuring the total
cllrrent and a meter capable of
on each meter.

ng the voltage drop across the heater. Find the reading

across I JL
(7

lz0u

T

5,71{L

72Ð
2n

6"0n

-- 3A

f .04

204

12À

?,
3A K

?r(,-
20

r¿0\l
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Junctions IB 11

Junction: 
Tlace ¡,lhr,rc tuio ar ltl\fc Nift5 WLI tû rc ctrc¡f

L Determine the magnitude and direction of the current in the unlabeled wire

Junction A Junction B Junction C

3A*-*---à 7A
--*---"}

.Jft

j1A

<--.--
L/R'

3A

lh

5A
------------) . 3A

7
^J

rl0l,

xn ¡A

Kirchhoff s First Law (Current Law, Junction Rule):

Thc lofa/ Co rr7.ùl drrccfeo( ûh r-. IÌûtcf;oru A

l,/1,üJ r (fiJal tlv nril u)1'uth d,recþcr,4 1t)f ol' lhe

NorË: 
, 

1,Jnclûvt.
(lnw\Jül,on ol Ûtarile Ttnctlle

2. Determine the reading on each blal{k ammeter. ' , 
?;J:#;ï:r,|ffiäreadings 

now rhar the e r)

(r= l20J

L
24!t (tt (,

"l
1-

6

K,¡- I tn
lr - 17.0v

4,tn-

lr-ZSA

fxÊ gnrt oF f{€. o,ilf¡fÍs ùr DE
Tu6 gß^Ìrclr cÀllts €ou 15 î{
crrtt€xf 8€toÊ€ f1 DÌvto€s.

ltA9rr

tn t0A

tto 5n

t¡0v
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Review - Resistors in Series or in Parallel IB 11

Parallel Connection

Characteristic Series Circuit Parallel Circuit

Number of pathways
for current 0ne mt)lhple

a

Jt] rn of 6(ü

the (oúwtLy s
Current Sane

Potential Difference
(Voltage)

J0r?l of ttn
lhe dre

?s
Srt"rnc

Overall resistance JUrl 'f R (h ) Jtjrn 'l
Power low h¡wl

húhffnrhg thc Flsrry Rde trl ilTollway

E
E

Ê

B

E

te

B

Ê

e
g

E

E

E

E
E

uuI'
Ê EE

Ë

E

E
ä;

ffi

IhæR¿cisOr
fl¡¡dinScriË

lhn¡Ssi¡lor
ll¡¡c¡linP¡¡lld

Ê

ASingleR¡risld
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20. a
0^fI a

2û. O

ü

BU

Combination Circuits IB t l

In each circuit below, determine the voltage drop across each resistor and the current through each resistor.

tO"rL Rr= 50"'tL
( r' 201

T, =Z}v = 0.qh

50.{L

I 6e

4

t,../â

20. o 20. n

+-
o'9 Ê

Rl

ro

f?

ZO"L

Za,n-

ü
q\,I {\j

20v tv
Z 0.2

SV

2. s)ZOr-
z0ß

B2 - 7V

0,..1Ê

0",1 fi
= z0l

üR rf

2{t

a
-)

6()

n

4C¡
I2¿V

to
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